00 Y —
'
A ‘ s ’ @ g% ] % fyra brak, decimaler, ordningsfoljd med parenteser

namn: Datum: Poéng:
2 2 2 2
—+2(=+2)= 4,2x15+3—-4(5,4+-) =

4,2x25+5-5(5,5-5,1)= 41xg-4+202+ 1=
’ 372

] 1o I
- 2+4,2= 10(= — 2)=2x3— = =
(3758 x2+4, 0378727373

D 15+5+304,2— 4y= 10(5.5+ 1)+ 2x 3 & =
3 ' T3 6 2
L33y xs5-27- Lslin s =

3 9 9 2 5 9
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00 Y —
'
ﬁ ‘ s ’ @ g% 1 % fyra brak, decimaler, ordningsfoljd med parenteser

namn: Datum: Poéng:
2 2 2. 38 8 2 11 1
- +2(=+=)= —=2— 4,2x15+3-405,4+2)=(——)= (2=
L5 — = 2 1 158 8
4,2x25+5-55,5-5,1)=19 4,1%x8+4+25+ )= — = 10—
3 2 15 15
1 101 11 1 1 1 9 1
——=58)x2+42=(—)=(—6— 10(z—=)+2%x3—==—-=4-
(3738 2= (C15) =(62) 5% 7 =543
1 1 63 3 1 I 169 1
= x15+5+34,2—-)=— =12- 1 +-=)+2 —=—=—=84=
3>< 5+5+3(4, 3) 5 5 0(5,5 6) x 3 5 > 8 >
1 263 8 1 1
=—3,3)x5-2,7=(——)=(17— —+5(=+2,5=14
(3-33x5-27=(0)=(175)  5+5(:+2.9)
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